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Nwms: Jara: Onenka:
6 2 1 1
— X — = — X — =
9 7 8 4
4 2 1 2
— X — = —X]1=-=
8 3 7 5
7 3 2 3
— X - = 1__)(__:
9 4 5 5
1 3 4 3
]— x — = — X — =
2 9 8 5
N 2.2
9 "2 43
3 4 5 6
— X — = — X — =
9 9 7 9
1 1 5 3
51y~ 6 8"
3l 3 2. 1_
2 7 5 8
| 2 1 3
137 8§79
I 1 2 3
— X — = — X — =
2 2 8 6

www.snowmath.com


https://www.snowmath.com

yYMHOXEHHE Apobelt (cMelanHas Jpoob)

Nwms: Jlara: Ouenka: ___
6 2 4 I 1 1
- X — = — - X - = —
9 7 21 8 4 32
4 2 1 1 2 1
— X — = — —X]==-
8 3 3 7 5 5
7 3 7 2 3 21
- X - = — ]— X — = —
9 4 12 5 5 25
I 3 1 4 3 3
]— X — = — — X — = —
2 9 2 8 5 10
I 2.2,
9 2 18 4 3
3 4 4 5 6 10
- X — = — - X — = —
9 9 27 7 9 21
1 1 1
l_xl_zizl_ éxi:i
5 4 2 2 6 8 16
1 3 3 | 2 1 1
3ox=C=1= “x o=
2 7 2 2 5 8 20
3l 22363 b3t
2 3 6 6 8 9 24
I 1 1 2 3 1
— X — = — — X — = —
2 2 4 8 6 8
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